5/20/2015 Print Test

PRINTABLE VERSION

Quiz 14

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

Given triangle ABC, the measure of angle A is 60°, the length of BC is V3. and the length of AC is
/s . How many solutions are there for the measure of angle B?

Checle
a)  Cannot be determined. \ SinB Sim Lo Wo+S. H4< |fo V
Is voui
b) 3 /s V3 1%4.2¢ + 4o < 180 X
J_ Sy = E _l_
¢ 0 A c T37ne
1 JEE Sin®z ¥ ) L
z 5 {3
e) 2 LY n B = -l—-
lo
f)  None of the above. B = 5‘,1.|.|-° B= Igo-s3y= ITH 2%
Question 2
Your answer 1s CORRECT.
Given triangle ABC, the measure of angle A is 45°, the length of AB is 6, and the length of AC is 6.
What is the length of side BC? A SAS
A b e - 21 (6 Cos 45
a) 0 VT8=V2 . (W
+
6"z 3u430 - 203 (V1)
z
bl Esrnid c L
B G7= F2 -3,V
42 .
) o™ 3u(2-v3)
d) & ﬁ = L J -3
e) 3

f) ~ None of the above.
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Question 3
Your answer 1s CORRECT.
ABC is a triangle with angle A = 30°, angle B=135°, and BC =5 cm. Find AC.
e SAA
a) 5\/6/2
135\ 5 <
— ‘n 3o N
(b))« 52 — = Sn 133
3o d x
0 s A X “ L
X(z)= (‘E: s
T
d 5
) x = 5oz
e) 10

f)  None of the above.

Question 4

Your answer 1s CORRECT.

ABC is a triangle with AB=2, BC=10, and AC=11. Find cos(A).
Note: You are asked to find the cosine of A, not the measure of angle A. Do not use a calculator.

25 N Sss
( 2) /44 o
= a2-= kl* C.;- 2be Cos A
11
¥ & o~ I < 0™ n*rar —2 () CosA
¢) 25/22 100 = 120 +4 <« 4% CosA
- = =4 CosA
d) s s
Cosfy = 25
e) S ——.*
f) ~ None of the above.
Question 5
Your answer 1s CORRECT.

Determine the angle x in the triangle given below with AB =12 and BC = 13.
Hint: Use the Law of Sines along with a double-angle formula.
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E
13
\ %
2% Lt
% C

Sin X = Sia (2%)

—————
a)  x= 1/2 - arccos ( 13/24 ) = >

13 Sin X - Zru‘nb&)a:-‘ )
b)  X=arccos( /12) |2 1>
) 13

C) X = arcs]n( /6 ) |3 SinX = 2,4' S\'n ‘.x‘ cos ¢ x)
d x= 1/2 - arcsin ( 12/13 ) 1% = cos X)

o
x=arccos(l3/24) c.as-| Ll5/¢_+\ T K

f)  None of the above.

Question 6
Your answer 1s CORRECT.
In triangle ABC, ZA measures 31°. If #C measures 18° and BC has length 10, find AB.
&
5]
a) * \o
o A A
10 sin [%] A c
b) 5]
. Snlg
( -
10 sin (18°) Sin 3 © =

@ sin (31°) lo

lo Sin 182X Sin 31
d o 5V3

lo Sin U.S) = X

. i
10 sm(3ﬂ1 ) sin LA
¢ sin (18°)
f)  None of the above.

Question 7
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Your answer 1s CORRECT.

An isosceles triangle has a vertex angle measuring 150°. The two equal sides have length Q inches.
What is the length of the base (in inches)?

a) \/EQE_Q‘J@ Q |50 Q X QLTQ:'_ZQQCQ.; Iso
> -J>
b) Jod 42003 X = ZQ"-ZQZ'(—._)
X
2= - 2=
c

X = VQ*(2+4V3
o o 2dE=73) QLz+da)

@ 2y (2+V3)

f) ~ None of the above.

X=Q\ 2443

Question 8
Your answer 1s CORRECT.

In triangle ABC, the measure of angle A is 60°, the length of BC is 743, and the length of AC is
7\2 . Find all possible measures for angle B.

o ® G Sin LD - Sin B
a) 60 + 5 e
b)  120°
) wo C (_E) Wz-= anB(’l-\‘_a_)
0 (0] P. &
¢ 45°0r 135 ER Sim @ = ﬁ(’r\ﬁ.)
@« === Gz
b°+*s"lg°/ Sfr\e=ﬂ
e)  30°or 150° % =z
I35+ w0 < |80 B=4s

f) ~ None of the above. B = /80-45 = I35

Question 9
Your answer 1s CORRECT.

Two cyclists leave the corner of State Street and Main Street simultaneously. State Street and Main

Street are not at right angles; the cyclists' paths have an angle of 120° between them. How far apart
are the cyclists after they each travel 5 miles? The answers below are given in miles. Hint: Use the
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Law of Cosines

< X*252s5*-2(sHS) Cesl2d
a) 0 10—=45 + \
120 X A2 Spo - S0 ("-1-_)
Sa‘-'T S
® X*: So +2s
¢) J25—-J5 X%, 3}s

d 2 X = sV3
e) 10
f)  None of the above.

Question 10
Your answer 1s CORRECT.

Given triangle ABC with AB =5 and BC =5V3 . The measure of angle A is 120°. How many
choices are there for the measure of angle C?

1 5 B sinl20  gn C
S s
b) 3 S 1o 53 Vs
- Sy
02 \ 5 Sn\2o = 533 Sin C
“ 5
3
d 0 s y
) Chec- * = Sn C
9 ©4 o +30 <15V sy
| . .
f)  None of the above. 120+ 155 <180 X T = S'n C
. 30
cC= 150
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